[ Efficiency vs vertpos |

~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015

0.0

0.005

..........................

..........................

..........................

..........................

Ratio

QE

Efficiend

10

1

== obal T
—— DQM_V0001_R000000001__Global__mkFit_var
—— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
—— DOM V0001 _R000000001__Global

10 0?
TP vertr (cr%)

m aseline

mKkFit_jcore50maxCand-33DUPremoval

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

................

................

................

.........................
.........................

.........................

q

Ratio

0.5

[Effici

ency vs.sim PV z |

10 20 30
TP vert z (cm)

N 0.
>
2.0.09
£
50.08
20.07
3
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

.......................

.......................

.......................

Q

Ratio

0.5

nlo

OSSO A
SRR SRR SR o
S NI
SRR SRR SR o
S b
N I I L
)

0 2 4
Sim. PV z (cm)



	Contents
	Page 1


